EARAROBEEIERT — 2 N— IBISH —F

2018%F12F 198 (k) 21E&&HEIA

m C19# ¥7%—#% ‘ (%E] W ‘ (Esm] — | 4 (B) 14000 B
[AE4£] 1% :230,000” ~ 237%:58,000MH  33%&:28,000M”  437%&:18,000 H .~ 5 & :12,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. B4 | FEREME 1:32.6 6-5-3-2 |38.9| — 2 425 | AEEL (BHE)
17|/ rrV7= 54.0 i gy |8 ViridianKeibaC|l
RINATA—h— B:/—hLTFoYa ZATT— L
2 N 43 | AMEHEE 1:32.8 1-1-1-1 | 39.5| — 1 503 | SiElEZ (BHE)
2 A= 56.0 ) o |BECHT
Z:A7% BAG)—"Tr4Z HET77—L
. 4t 3 | DEERIME 1:34.9 3-3-3-4 |41.2] — 5 4| FLEE (BEHE)
3PN 4 | A—T>T Ly 54.0 (21 %) w3 | (B yp N
:YZR8—-3Z2%4%— B:LTA—EXT1— THES
e g 4 3 | FEIEE 1:35.0 4-4-3-5 |41.3| — 4 414 | TEE (BHE)
41810/ E—7H7—-JILEK 54.0 (1/2) (-3) (F) J PN
x> dnq0— B:TAINKRYT7 T attie]
; 4 3 | BRR— 1:35.3 2-2-2-3 |#.7| — 6 399 | EBE (RHE)
51719 AKRT/ITAR 54.0 (11/2) +7) (lEI)LJPNHEH
R:Z2 kAT UE—> BOREFHUT EEHS
= ¢ EE= :35. —5-6- . - WDE— (BHE)
6 3| FA>T7Zay b 4 3 e (11 315/25) 5-5-6-6 | 41.7 3 (5_171) k%g.%
L:NZ—k21—X B:514>Tzvh INRIS
2355 . 4 3 | BIBEE 1:35.6 7-7-7-7 | 40.6 | — 8 439 | tEMBIE (BHE)
7|81 EZF AT A 54.0 (1/2) Gy | ) Tr-ZbEVa>
od—IRAqMO— B4 T7>2v—7 Bovie]
S = 4 5 | DOBEER— 1:36.2 8-8-8-8 |40.9| — 9 437 | FRHEHEA (BHE)
EEZ TA22FT 1~ 54.0 3) (a) | WD) Tr—2pEVS>
L:Tv TRy b BiI—-Y FzOx— RAEW IS
. o= 4 5 | BRARBIE 1:36.4 10-10-10-10{ 40.8 | — 7 419 | BEER (%54)
9|11 |F-bBHFXTN 54.0 (1 1/2) e | A iyt
RLihrN=— B:VILIXF1X IR
5 o7 | KEH 1:36.7 8-9-8-9 |41.4| — 10 | 530 |FEBS (BHE)
10/5|5 | FRAELT/ 56.0 (1 1/2) Lo | ) K-2%7
L:FLI /TR B RINN)DT [IT)=2kse ]
4 | AFTBER — - — — — — | #HLE (BEE)
R 6| TV 7L— * Frigs oo O w50
AL anK—F— B:YITN—b w77 — L4
® I —F—@EBIERL
13—F— 8,9,4,10,3,7,11,(2,5) ,1
2ol=7r= 8,9,4,10,(3,7) ,11,2,5,1
da=3r= 8,9,(4,7,10),3,11,(2,5) 1
43—F— 8,7,9,4,10,3,11,2,5,1
[ N3
BB 7 220M 714K 7-8 1204 % E 6-7 190H 3EHE 4-7-8 690M
8 B 7 100M 4-7 430 B & 7-8 160 K31 7-8-4 2,770
8 1009 4-8 300M B H 7-8 380M
4 200M

ABICOVWTRDTEEERROODE. TR LIV,




